N of reco track vs hit
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2 2 F 2 ¢ F-
8 g g g
- s ° S
= B 107 g
=
- =1
L k=]
10E:
1
L
2" 2 g
& a12f- { K &
11 1TH
E-ahil + N R S
0 5 10 % 10 15 20 25 30 35 40 25 30 35 40 010 20 30 40 50 60 70 80
i track hits track hits track hits
1gina srepz uoar pnasel newgeom
M”pixelCPE steg ttbar-phasel-newgeom
[Nof reco track vs 1§ DOM_ p|xe|CPEAnd hi2 step2 ttbar-phasel-newgeom
] %] &) 12}
= 3 s 2
£ 8 g
=
=3
k=]
o o o o
3 3 3 3 :
24 @ 24 @ .
[ R R SRR E PP
152025 0 10 15 20 25 TTTE TS 0 s

5
track layers

[N of reco track vs pixellayer ]

tracks

Ratio

0 1 2 83 4 5 6 7 8

tracks

Ratio

8 10 12 14 16 18 20
track 3D layers

track layers

N of associated (recoToSim) tracks vs pixellayer |

true tracks

=
o
©

10?

Ratio

0 4 5 6 7 8
track pixel layers

N of associated (recoToSim) tracks vs 3D layer |

true tracks

Ratio

%5 6 7 8 910
track 3D layers

fake tracks

fake tracks

=
o
)

4 5 6 7 8
track pixel layers

8

10 12 14 16 18 20
track 3D layers

track layers

N of associated (recoToSim) duplicate tracks vs pixellayer |

duplicate tracks
=

10~

Ratio

0O 1 2 3 4 5 6 7 8
track pixel layers

ot ssocaed GecaTosimy supticas ke ve o arer |

duplicate tracks

Ratio

10 12 14 16 18 20
track 3D layers

CZTE S



	Contents
	Page 1


